Efficiency vs dr

x 0.0

== DQM_V0001_R000000001__Global__mkFit_baseline
—— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000

_| —— DQM_V0001_R000000001__Global__mkFit_jcorel0OmaxCand-24DUPremoval-1000

1072 107

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
)
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001

1073 1072 107t
AR(TP, jet)

Efficiency vs pu

5 0.0
o
9.009
3.008
(]
©®.007
=
%.006
0.005
0.004
0.003
0.002
0.001

q....

Ratio

0.5




	Contents
	Page 1


